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Bilkent University
Department of Mathematics

ProBLEM OF THE MONTH

Term: November 2024

At the beginning the board contains 77 vectors

(1,0,0,...,0), (0,1,0,...,0), ..., (0,0,0,...,1)

each having 77 components. At each step we choose two vectors (ai,as,...,ar;) and
(b1, ba, ..., byr) written on the board and write their sum (ay + by, as + bo, ..., a77 + bry)
to the board. Find the minimal number of steps which should be made to get all the vectors

0,1,1,...,1), (1,0,1,...,1), ..., (1,1,1,...,0).
on the board.



